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7 3,180
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= 245,002
02 SIZHBAEE 534,612 536,948 £2,336
O =ona 2¢ 76,800
Al 38,400
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O BRU2Y| L X2 435,012
Al 237,840
= 197,172
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O Y2 JA US| SXX 3,900
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Al 20,000
= 10,000
01 Al&Hl 30,000 25,000 5,000
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Co=XE 29 405,000 0 405,000
Al 283,500
- 121,500
307 GI2+0I A 405,000 0 405,000
Al 283,500
- 121,500
02 BIAHANE X 405,000 0 405,000
O o= 24 405,000
Al 283,500
2 121,500
COIABI B BA G 1,201,800 824,570 377,230
2 600,900
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Lol Xl At 1,201,800 824,570 377,230
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301 ptEag 217,260 244,800 N27,540
= 108,630
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2 857,255
Al 762,012
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Wot=QI =X X 148,420 197,060 48,640
Al 148,420
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03 AIBFAH2=XH| 850 1,000 A 150
O GiEEM 29 243 850
307 QIz2tol & 2,700 3,000 A300
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O =14 DSl 119,639
Al 119,639
O ZE04sEEY| 24,382
Al 24,382
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Al 2,400
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= 29,803
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O EEaags NA=X 2 1,800
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Al 329,000
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Al 30,917
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O PABSAL SFotE U S A 17,000
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Al 14,400
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O ZZEHMO JZEWID 934,248
2 653,974
Al 280,274

TOHQI=TAIL TR 3,792,315 3,064,509 727,806
= 170,739
Al 3,612,336
2 9,240

ZOHQl MEAIM X 2,062,647 1,977,326 85,321
23 170,739
Al 1,882,668
2 9,240

301 YerEAa 19,677 13,280 6,397
3 7,017
Al 3,420
= 9,240
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SN FO=XD
M3 Fojel - OtS=X B

& HoeI=SAAIE X (¢t &
SN B S(BH) - MEAY - BAS Aol dd = =2t
01l & 08
O HHeIAH=EH| XI& 10,584
Al 10,584
O XATHE THILEOHC! =4 10,584
Al 10,584
ZHOHQ! KIS AISIAIE KIS 330, 360 245,520 84,840
Al 330, 360
307 212to1A 330, 360 245,520 84,840
Al 330, 360
02 0IZ2ZtEAME X 330, 360 245,520 84,840
O HHOIF2UABSAIE 2 H| 105,000
Al 105,000
O HHeIF=2AHES AL A== 13,680
Al 13,680
O HolssHEIE 29| 198,000
Al 198,000
O ZiolSsMEIIE MNASKE 13,680
Al 13,680
ool =E2X 2 24 1,297,506 758,221 539,285
Al 1,297,506
307 2I12t0| & 1,118,506 703,221 415,285
Al 1,118,506
02 DIZHAAMEXR 1,118,506 703,221 415,285
O Y72 e=sI2 2| 89,090
Al 89,090
O gREMOISX 2 21| 445 452
Al 445,452
O YR e=sI2 M_A=EXE 43,320
Al 43,320
O LIAIEE S A2 X 28 2HHI X & 84,400
Al 84,400
O LIAtStE S E oI = X2 o1A4H| X & 422,004
Al 422,004
O Liantgtegdelsila2 Masiisg 30,240
Al 30,240
O g3REMeIsI2 BE3)|s MAAS 4,000
Al 4,000
402 BIZHX 0| H 179,000 55,000 124,000
Al 179,000
01 QI2HXIE2E X 179,000 55,000 124,000
O LiAtgtegdEelsi2 Js22Ad
22 179,000
Al 179,000
RLESOIs HAEEY 2,557,138 1,999,840 557,298
= 896,401
Al 1,559,118




SN S(B) - NRAY - B2 e =2
- 101,619
Ots=XAIE XI& 691,692 590,490 101,202
2 108,770
Al 582,922
301 etEa = 33,913 19,618 14,295
2 25,122
Al 8,791
01 AISIEE " =0l= 33,913 19,618 14,295
O WE30(0tSAIE) 27,913
= 25,122
Al 2,791
O Er0ENRERI 6,000
Al 6,000
307 gI2told 657,779 570,872 86,907
2 83,648
Al 574,131
01 A2 =H| 92,942 90, 122 2,820
O MHB0H (OIS AIL) 92,942
= 83,648
Al 9,294
02 Bl2tAAE X 564,837 480,750 84,087
O Ots=XAE 28X & 538,507
Al 538,507
O AME0ts =X 10,800
Al 10,800
O AME0ts 2104 WEHIXA 8,424
Al 8,424
O Al40ts =St &l X3 1,856
Al 1,856
O AlZ0ts GtAHI=&Hl XI& 1,000
Al 1,000
O OtsAlE ZoHsdl X2 4,250
Al 4,250
A2EAEIIE 2 JIERE0E & RESOs A& 119,212 113,250 5,962
Al 119,212
301 Yptsaazg 119,212 113,250 5,962
Al 119,212
01 AISIEEE=0l3 119,212 113,250 5,962
O 28AHIMME, IHERAEtS HEXR 10,800
Al 10,800
O AEAUIIE, IEISOIS, ANLOS O
SE3 N2 10,920
Al 10,920
O JHEgsgs 1 97.492
Al 97,492
otss4a X 596,648 548,500 48,148




SM: FUST D
M Zojel - OlS=X B
CHel: RPS0IS AMSA (e @8
_ — N e
RA B SA(BH) - NRAY - B 0fl b e HRE2
A 502,324
2 94,324
301 YBrBAS 596,648 548,500 48,148
Al 502,324
2 94,324
01 AtE B R X453 596,648 548,500 48,148
O ZA0IS SAXE 596,648
- BY AN 190,667
Al 143,000
2 47,667
- YsE ZAXS 186,628
Al 139,971
2 46,657
- SAIE Z Al 30,053
Al 30,053
- £, Z5Y AN 189,300
Al 189,300
OtE=X X2 7,29 13,600 6,305
203 Y=Y 2,295 2,700 A405
03 AlZ =T 2=y 2,295 2,700 405
O AHAHIIE L IIHIISOIS +3t013|
e 60,0002 * 1523 B5% 765
O AEAEIIE L IHHSE0LS A
40,0002 45 K| CH <85% 1,530
401 AEHIYLS ] 5,000 10,000 5,000
01 Al&| 5,000 10,000 25,000
O ol2lol S0IE 24 S
2,500, 00021 #47H 2 +50% 5,000
IURAD X 107,553 130,000 ~22,447
= 75,287
Al 32,266
301 YsrPAS 107,553 130,000 ~22,447
=2 75,287
Al 32,266
SIEEEERSTE 107,553 130,000 A22,447
O YgzAZ X 107,553
= 75,287
Al 32,266
Y LOIS YKEEZ X2 9, 164 7,886 1,278
= 6,415
Al 2,749
301 YsrPAS 9, 164 7,886 1,278
=2 6,415
Al 2,749
01 ASI2EE 263 9, 164 7,886 1,278
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SM: FUST D
M Zojel - OlS=X B
ool RE50tS AHSY (e @8
SA-BH.C(BH) - HRAY - B 0ff &+ o4 gggi; Rz
A 243,682
02 DIIAMNBE 499,364 286,670 212,694
O XISiOISHE 2l X 499,364
= 249,682
Al 249,682
KOS HE OFSSXRA KR 148,320 197,760 149,440
= 103,824
Al 44,496
307 2120l H 148,320 197,760 149,440
2 103,824
Al 44,496
02 DIIAMNBE 148,320 197,760 £49,440
O XIGOISHE OISSX DA X2 148,320
= 103,824
Al 44,496
SEYAEIE AMY 300,000 0 300,000
= 300,000
101 @124t 58,000 0 58,000
=2 58,000
04 JIVH22HS L4 58,000 0 58,000
O MHIAZEX 21|
1,500,0002! * 127 2 *3% 54,000
=2 54,000
O g2IAY 28y 4,000
= 4,000
201 Ygreg| 192,000 0 192,000
= 192,000
01 AtR2elt] 187,240 0 187,240
O CYAEEME 29| 48,996
=2 48,996
O 2X,21%,25 T2 23| 115,000
= 115,000
O fIgnsy| 150,000+6 % *43| 3,600
= 3,600
O 294+g 70,0008 %7% +23] 980
=2 980
O SSHLIAMY SMPY 10,000
= 10,000
O 2| 7,000% +3% * 12 * 122 3,024
= 3,024
O gyYxE 470,00021 +122 5,640
=2 5,640
02 BB 4,760 0 4,760
O 2222 2 HMA 230,000 *122 2,760
= 2,760




SN FRI=T D
M ZOfel - OtE =X EX
Ciol: QES0IE AHSA (SHo: &)
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES (il & OH Ol AF o8 HwsZ
O R0 L S| 2,000
= 2,000
202 01| 3,000 0 3,000
= 3,000
01 2U0ib| 3,000 0 3,000
O ZUERNHIOIZH2EX)
200,0002 *324 *53] 3,000
= 3,000
307 212H0|H 40,000 0 40,000
= 40,000
05 QI2teIera 40,000 0 40,000
O 4812 T2 2YHI X 40,000
- SI|pQE(ERIRIY)
10,000,0002 * 17 £ 10,000
= 10,000
- SIS (X, AYTE )
15,000, 0002 %27 £ 30,000
= 30,000
401 Al&HI 2SO 2,000 0 2,000
= 2,000
01 Al 2,000 0 2,000
O ME AIZKRX 2,000
= 2,000
405 X+arE S| 5,000 0 5,000
= 5,000
01 ML SEFHSH| 3,000 0 3,000
O AIRI17l 72 3,000
= 3,000
02 SATI 2,000 0 2,000
O SNH EAPY 2,000
= 2,000
Hg22 S 2,540,937 2,060,898 480,039
= 2,220,598
Al 241,597
- 78,742
HASTED REAY 23 2,540,937 2,060,898 480,039
= 2,220,598
Al 241,597
= 78,742
HASFEO X 120,000 115,846 4,154
= 108,000
Al 8,400
7 3,600
307 212H0|H 120,000 115,846 4,154
= 108,000




SA: ==X
a3 a2z 38
SRl MASF0 TEAY 23 el ® )
AN - XM . cle (s HEAY . N2 Al OH HEE H| =2t
Al 8,400
- 3,600
02 QIZtAAMEX 120,000 115,846 4,154
O 830 (d=elAg) 120,000
= 108,000
Al 8,400
- 3,600
BEASZH 140,190 138,221 1,969
= 126,171
Al 9,813
- 4,206
301 LEtEAZ 140,190 138,221 1,969
= 126,171
Al 9,813
- 4,206
01 AISIEEE =63 140,190 138,221 1,969
O XNELS3H(MHEEAZ) 140,190
= 126,171
Al 9,813
- 4,206
HARIE SR EZ R0 ALY 98,091 324,427 AN 226,336
= 68,663
Al 14,714
- 14,714
307 212t01& 98,091 324,427 A 226,336
= 68,663
Al 14,714
- 14,714
02 GIZtAAEX 98,091 324,427 A 226,336
O JAAE S EZE20IAHY 98,091
= 68,663
Al 14,714
- 14,714
gz 1,844,001 1,297,018 546,983
= 1,659,601
Al 129,080
- 55,320
401 A &HIYL 2048 1,844,001 1,297,018 546,983
= 1,659,601
Al 129,080
- 55,320
01 Al&H| ,844,001 1,297,018 546,983
O X&EZ2AZ 1,844,001
= 1,659,601
Al 129,080
- 55,320
M BEEZ ) 1,740 1,740 0




SA: FE
Ha: RE
SC PPN

2N -3 (AH) - HIRAIY - BHE

R
:
0x
I
=
[
2
2
R
12
o
£l
0l%
IS

= 1,566
Al 122
T 52

301 LetEH= 1,740 1,740 0
= 1,566
Al 122
- 52

01 A2 X463 1,740 1,740 0

O AZHSZZ0Y MHI(CIZSALY) 1,740
= 1,566
Al 122
T 52

NEXEdH 28 K& 186,465 182,646 3,819
= 121,957
Al 64,508

307 2120l A 186,465 182,646 3,819

121,957
64,508

= W

02 It aEx 186,465 182,646 3,819

O XNSXEdE 249l 174,225
121,957
52,268
O XNgady Ha=sX+=Y 12,240
Al 12,240

= W

s 2483 850 1,000 A 150

203 EE =&l 850 1,000 A 150

03 AMH=THIRFAHI 850 1,000 2150

O Mguggds s =8 850

LIS SEAY 149,600 0 149,600
134,640
14,960

= W

307 2120l A 149,600 0 149,600

134,640
14,960

= W

02 It aEx 149,600 0 149,600

O LI SSEAMY 149,600
134,640
14,960

= W

NEFA & S22 A 1,256,730 725,630 531,100
63,500

1,004,500
188,730

4 = H

nE =M st HY 2 127,730 53,630 74,100
= 63,500
Al 63,500
T 730
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74,100

74,100

74,100

457,000

457,000

457,000
457,000

4,223

A210
A210

A210
A210

LH3r
m<l
Rk

730

730
730

52,900

52,900

52,900

672,000

672,000

672,000
672,000

71,41

3,780
3,780

3,780
3,780

=
o

s

<J

730

730
730
480
250

127,000
63,500
63,500

127,000
63,500
63,500

127,000

127,000
63,500
63,500

,129,000

941,000

m

Al

mr

Al

fir

188,000
1,129,000

1

Al
Al

941,000
188,000
1,129,000
941,000
188,000
1,129,000
1,129,000
941,000
188,000
75,634

Al
Al
Al

3,570
3,570

3,570
3,570
3,570

30
0B

a4
Ed
H
RO
oD
s

4 x1, 50004

&+2,50004

o
[uinsd

320

[uind

2l %2

50&

CPEE M

teldl

0]
el

01 At

10H

307 2120l &
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ol
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el
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n
M0
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01 Al£HI

401 AlIEHIZ R0

—_

=

o
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KK

0

0K
RO

KJ
K
ok
ol

1 x 123 +85%

=
=

350,000

a

Kt
a-
&)l
80
OH
3

I+

0

4,433
4,433
A 367
AB27

67,631
67,631
17,231
16,431

72,064
72,064
16,864
16,104

10,560
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A F=RSX L
Ha: BHSAA|(Z
Erel: J|= Y| (0= CERE
}\_I X~ xH C|—O|(:|j;”) }\.“bl}\l,O-l A2 AFOH XI_-ILjL:— HleDF
02 Z38=22 760 800 A40
O ZgH s ISl
200,000& *42] *95% 760
202 O4dl 55,200 50,400 4,800
01 =LA bl 55,200 50,400 4,800
O A& = 20,0003 23 102/« 12& 55,200




